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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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All questions are compulsory.
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(i) 397 F7% 1 @ 35 TF FGTC F9T &1 HAH T 1 5% F &
Questions from 1 to 35 are objective type questions. Each question is of
1 mark.
#7 RT 17 g% 797 7 @90 % I9YFT [A%T gy
Select the most appropriate option from those given below in each
question :
1. +1uC T +4uC & & AE Th-gak 8 B g W ag § Red 81 3 W @ am
Tl H AIUC © ’
A 1:4 B) 4:1
) 1:1 (D) 1:16
Two charges +1uCand +4uC are situated at a distance in air. The ratio of
forces acting on them is :
A) 1:4 (B) 4:1
) 1:1 (D) 1:16
2. N TR g C dr Heial # Ted Aol § q9r 9 F gHR BH H SISl S &l
QNI aSMSAl H qed SRl 1 STy 8 1
A 9:1 (B) 6:1
) 3:1 D) 1:9
Three capacitors of equal capacity C are joined first in series and then in
parallel. The ratio of equivalent capacities in both the cases will be :
(A) 9:1 B) 6:1
) 3:1 D) 1:9
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3. RRre-ufirg & 95 © 1
(A) 9
(B) oH-HI"
(C) o' !
(D) o -+t
The unit of Specific resistance is :
(A) ohm-m
(B) ohm-m™!
(©) ohm™! —m™1
(D) ohm™ —-m
4. T% IH I dieed (v) T GRT (i) P 9 A6 T XA @1 § o y-37e7 (S % i e
HAT ) & 0 HIOT A I ATAD HN T B8R - 1
(A) tan 6 (B) cot®
(C) sin® (D) cos®©
The graph between voltage (v) and current (i) for a conductor is a straight line
which makes an angle 6 with y-axis (representing i). The resistance of the
Conductor will be :
(A) tan 6 (B) cot®
(C) sin® (D) cos 6
228/ 11 P.T.O.
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5. 56 O M JhT A F Th Jo 8 & araq oS B ol e & O B 1
(A)  TRETEBR (B) TR
(C) TR (D) &% X

An electron enters into a uniform magnetic field perpendicularly to it. The path
of the electron would be :

(A) Elliptical (B) Circular
(C) Parabolic (D) Linear
6. TP & (B) B TAMICAK AT (v) | TN AT q W TFH I qd 8 1
® =L B “XF
vXB q
(C) g(vxB) (D) Zero

The force (F)acting on a particle of charge q moving with velocity (zj)parallel to

magnetic field (E) is :

) L B) YXB
vxB q
(C) q(vxB) (D) Zero

7. T% HOS & [ @G 2 mH 21 389 3 O JEE S & 10°UWeER/awvs 31 s

IRT ared s B ¢ 1
(A) 1dRe (B) 2 de
(C) 3dre (D) 4 e
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For a coil-having self Inductance 2 mH, current flows at a rate of
10° ampere/sec in it. The emf induced in it is :
(A) 1 volt (B) 2 volt
(C) 3wvolt (D) 4 volt
8. A= & frew fre Afess U & wReer W oameia ® 7 1
(A) AT B (B) §aT B
(C) o= @ (D) =N $
Lenz's Law is a Consequence of the Law of Conservation of :
(A) charge (B) momentum
(C) energy (D) mass
9. Wifmm & gREeT Bnil ® ¢ 1
(A) TTEEE &
(B) faggw &
(C) UhIv &
(D) T A=IRE W &
Mirage is a phenomena due to :
(A) Reflection
(B) Dispersion
(C) Scattering
(D) Total Internal Reflection
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10. U% f&-30@ av9 & M1 dol Pl Jhal-Head R XX & a1 6 STUatHie 1.5 31 o
P BIBE-g0 B )
(A) R/2 (B) R
(€) -R (D) 2R

The two Surfaces of a bi-convex Lens have equal radii of curvature R and its
refractive Index nis 1.5. The focal Length of the Lens will be :

(A) R/2 (B) R

(C) -R (D) 2R

11. % O 3 Y dA9an foaas & B9 dm B aon S & Ao A B O 3wt @

A & 1
(A) sin[A+6mj (B) sin—
. (A+dm
© sinA/2 (D) i~ ( j
Sin(A+8m] sinA/2

The angle of minimum deviation for a prism is dmand the angle of prism is A.

The refractive index of the material of the prism is :

(A) sin(A_i_Smj (B) sin—
. (A+dm
© _sinA/2 D) Sm( 2 j
sin(A+8m] sinA/2
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12. g | JHST & A 3x108%o/Ho Bl 4/3 AYGdHI® aid I H FeHIT Bl AT SR 1

(A) 1.5x 10%m/s
(B) 2x10%8m/s
() 1x10%8m/s

D) 2.25x10%m/s
(D)

Speed of Light in air is 3><108m/ s. For the water of refractive Index 4/3, the

speed of light will be :
(A) 1.5x 10%m/s
(B) 2x10%8m/s
(C) 1x10%m/s
(D) 2.25x10%m/s
13. oifca® T § AT a9 Sid old & oeih 569X SATafer Seh1eT &1 ST ¢ 1
(A) Iz AN | FH B
(B) 3l g | omel &
(C) Tl HAGRT § ik &
(D) SMgRT HI I T & 2
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Electron emission from a metallic surface is possible only, when Frequency of
the incident Light is :
(A) Less Then threshold Frequency
(B) Half of the Threshold Frequency
(C) Greater than the Threshold Frequency
(D) No effect of Frequency

14. 5 Tiom™ &9 § a5 -8l adeE ¢ 1
(A) 3% EFHM & APHACART o
(B) 3@ ol & STTHANIIRN &
(C) 36 Haw & STFHATIH o
(D) 3% Haw & FCHATIUH o
The de-Brogile wavelength associated with a moving particle is :
(A) Directly proportional to its mass
(B) Directly proportional to its energy
(C) Directly proportional to its momentum
(D) Inversely proportional to its momentum
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1S. eEgeH WA A r B & w7 Soage d s e o 1
1 62 1 62
A - 4 — (B) —
Teqg T dney 2r
1 62 1 62
(@) 4 — D) - L—
Teg T dne, 2r
In hydrogen atom, the Kinetic energy of electron in an orbit of radius r is given
by :
1 82 1 82
A) - 4 — (B) —
Teg T dney 2r
1 82 1 62
(©) ) — (D) - L—
Teg T 4ne, 2r
16. ggfgw (H?) & % § JedHl & YbR T6 G e 1
(A) 29K
(B) 19H Tg 1 A
(©) 27
(D) 19EH T§ 1 s
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Number and type of nucleons in the nucleus of Deuterium (;H?) will be :
(A) 2 protons

(B) 1 proton and 1 neutron

(C) 2 neutrons

(D) 1 proton and 1 electron

17. o qered & Soff 99 R & fRwmr ™ ' 9@ Vg4t 98 g9 C e U8 §, 3 qer
g 1
C

E, < 3eV

|

(A) TTH (B) TSAEH

(C) HAH (D) B

9

Energy band of a substance is shown in Figure. Where V is valence band and

C is conduction band.

C
E, < 3eV
, o
This substance is :
(A) Conductor (B) Semi conductor
(C) Insulator (D) Diamond
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18. 1-TRY & SEANE ¥ TS AL qEH B & ¢ 1
(A) T (B)
(C) FEF T B (D) T & F T

In a n-type Semi Conductor the minority charge carriers are :
(A) Electron (B) Hole
(C) Electron and hole (D) None of these

JYgFT I & ReT el & T Fo -

Fill in the blanks with Appropriate answer :

19. & A alee Bl 1

Voltisunitof ....cccvvvvnnnne. .

20. e acih & U T %A q YR 4RT 39 &% | Ui Uhih q9Y H PORA aren AT
................ T B 1

Current through a given area of a conductor is the net ................ passing per

unit time through the area.

21. g & GO W 36D GEb 4 B GROr 3 & o A iR omavasd g g & @
AfT oTagd, b U T ... | 1

Three quantities are needed to specify the magnetic field of the Earth on its

Surface-the horizontal component, the magnetic declination and .................
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22. fHH geEdl R S H OAEE SO B e 4 wiaRT #A 1
In an ac generator, mechanical Energy is converted to ............ .

23. X foYel, y-fopeol qen e aT & Maid ¥ T WSB! e M e R
IFEM Bl B 1
X-rays 7y-rays and radiowaves are propagating in vacuum, there ...................
will be same but frequencies will be different.

24. Hgq AW 9 [OR9 9egH HooOid FRROT B R .. g v & Fres fau
YT HIOT 90° B 1
The ..cooveviiiiiiin. angle for a ray incident from a denser to rarer medium, is
that angle for which the angle of refraction is 90°.

25. A TERE & B B FOM oo, 2 1

The energy of photon of wavelength A is ..................... .

26. IWIS-HEA § WA B FEiED FAAH AR OB KA ONAA TF GeH ANHS A Ghiad

AR T oo, g% A SN} UReRT XA B 1
In Rutherford's model, most of the mass of the atom and all its positive charge
are concentrated in a tiny nucleus and the .............. revolved around it.

27. HeEITR F SAaE B G (ne) BNl B F&AT (npn) T9H BN B 1

The number of electrons (n,) is equal to the number of holes (n,) in ............

Semi conductors.
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=i & v g -
Answer the following :

28. oX1 @ (J), fafre a@@d (o) T I & (E) § T & g [ 1
Write down the formula for the relation of current density (J) specific
conductivity (c) and the electric field (E).

29. {d & fgd deh o T A fawar § g i 1

Write relation between Electromotive force and terminal potential difference for

a cell.

30. @ fom 7 weRiq aRuy & APB @1 AQB @ & WM &1 & & &% O W J=&d &5
1 B 7 1

Consider the circuit shown where APB and AQB are parts of square. What will

be the Magnetic field at the centre O of the square.
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1. +5TAT T — 5 ST &9dT d1d & Jad o G9% § W@ 1 39 A @ &Har
FifoTa 1
Two thin Lenses of power +5 dioptre and -5 dioptre are placed in contact. Find
the power of this Combination.
32. FHig ¥ frg W T B TR B AT T AF DA B ? 1

For which spectral colour of Light is the speed Maximum in glass ?

33. A F WA F FHI T & WE W AfqT a7 F G BT TR HA W BT B
A T 1 J919 T ? 1

In Young's experiment what will be the effect on fringe-width on using yellow

colour light of sodium Lamp in place of violet colour light ?

34. I TE B FEEE FEl 1 : 8 B SIYUM F T I IS Tl BN SHI
I ? 1

Two nuclei have mass numbers in the ratio 1 : 8. What is the ratio of nuclear

density ?
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35. R W fm § afy sEE ow-oRMT & STeET IohH-STR 1

10V | +7V

Is the Junction diode D is forward or reverse biased, in the given diagram

-10V ‘ | -|:7V
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